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Isotopes
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1 a ESopyasd complete the table using the information in the diagram below. ¢ TIOWC0 yOu ENCW TR TIE CLAgram thowt The sime einen

Atom Number of protons | Number of neutrons | Number of electrons
B
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d Given that the symbel for both atems is B, write the symbaols in the farm TX.
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b ‘What is the difference between these two atoms? 3 The diagram below shows several .
atoms. -
a How many elements are shown? 0 -
Write the chemical symbaol for
¢ How do yvou know that the diagram shows two different elements? DR then. ® o
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d Given that the symbaol for atom A is Li. and the symbol for atom B is Be, write the symbaols in =k

the form BX,

b Write sach atom in the ferm T

2 a Copywmd complete the table using the information in the diagram below.

Atom Number of protons | Number of neutrons | Number of electrons

C ¢ Which atom has more than one
isotepe shown?
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b What is different between these two atoms?



